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QUESTION 1

Company ABC always works in the following way: The business chooses a set of requirements that it believes will add
business value. It communicates the requirements to the IT organization. The IT organization responds back with a plan

and estimates of cost and schedule. The business agrees to that plan. The IT organization executes the plan and

delivers a product to the business.

What type of framework is company ABC following?
A. DevOps

B. DSDM

C. Lean

D. Waterfall

Correct Answer: B

QUESTION 2

How can pair programming help with adopting Agile?
A. It helps recognizing who wrote which code

B. It is beneficial to knowledge transfer

C. It makes development faster and cheaper

Correct Answer: A

QUESTION 3

"As a coach, | can manage information about swimmers on my team."

What would be a good technique to split the above User Story into smaller stories?
A. Do not split. The User Story is small enough

B. Splitting the User Story into Epics

C. Splitting the User Story into separate CRUD operations

D. Splitting the User Story into tasks

Correct Answer: C

QUESTION 4

Latest ASM Dumps | ASM VCE Dumps | ASM Practice Test

2/3


https://www.pass4itsure.com/asm.html
https://www.pass4itsure.com/asm.html
https://www.pass4itsure.com/asm.html

. VCE & PDF https://www.pass4itsure.com/asm.htm|
a 2024 Latest passditsure ASM PDF and VCE dumps Download
=== / PassditSure.com

A Development Team consists of various different roles: analysts, programmers, UX experts, DBA and
systems architects. They are estimating Backlog Items in Ideal Days.

What is the best approach to provide estimates for the Backlog Items?

A. Each role should provide a separate estimate; the Scrum Master integrates them.

B. Ideal days\\' estimation is not feasible in this case; Story Points should be used.

C. The Development Team provides a single estimate for each Backlog Item.

D. The Product Owner will integrate the input on the estimates from each role.

Correct Answer: C

QUESTION 5

During a Sprint Planning, a team has picked three User Stories: Story 1 -5 Story Points Story 2 -8 Story Points
Story 3 -3 Story Points

At the end of the Sprint, the team has completed Story 1 and Story 3 and the Product Owner accepts
these.

The team has almost completed Story 2 but there are a few bugs identified in acceptance tests.
What is the Velocity of this team?

A. 8 points

B. 16 points

C. 12 points

D. Insufficient information given ?it depends on % completion of Story 2

Correct Answer: A
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